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Name: Revision Biology: Gr 12 General
G ZlA N e Al LB B3une Ciliee § AW e Fluall QLYY 09538 A ol AS 7 A0 BIO.3.2.04.010 39
B10.3.2.04.010 Explain that in artificial selection, humans have the capacity to influence certain characteristics of organisms through selective breeding 39
Describe \ some advantages A disadvantage
is crossing parent
organisms with 1-Disease resistance 1- Time-consuming
Hybridization | different forms of a | 2- produce more offspring 2-Expensive.
trait to produce 3- Grow faster
offspring with 4- more nutritious
specific traits S5-Adabt to environment changes
The process in which
two closely related 1-Pure breeds are maintained 1-harmful recessive traits can be
Inbreeding organisms are bred passed on to future generations. (
to have the desired 2-To eliminate the undesired homozygous recessive offspring)
traits and to ones in the future 2-increases the chance of
eliminate the homozygous recessive offspring if
undesired ones in both parents carry the recessive
future generations. allele

1- Which of the following is the process of crossing parent organisms with different forms of a trait to
produce offspring with specific traits?

a- Hybridization

c- selective breeding

b- inbreeding

d- test crossing

. Which statement is nof true of hybridization?

a- It is relatively inexpensive to perform.

b- produces offspring with specific traits

c- It crosses a parent organism with different forms of a trait.

d- It can take a long time to be successful.

3- Which of the following is a disadvantage of hybridization?

a- Hybridization is harmful to the affected organisms

b- Hybridization is time-consuming and expensive

c- Hybridization is technically difficult to perform

Mohamad g;J'Hg

bridization inferior to genetic engineering
a
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4- In the field of agriculture, hybridization is commonly employed to create E:!W plant varieties.
‘Which of the following best describes the outcome of hybridization in this context?

a- The resulting plants are genetically identical to their parent plants.

b- The resulting plants often have reduced resistance to pests and diseases.

¢- The resulting plants exhibit a combination of desirable traits from the parent plants.

d- The resulting plants are always sterile and cannot produce seeds.
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4- Which of the following is a disadvantage of inbreeding?

a- Inbreeding maintains Pure breeds
b- Inbreeding eliminates the undesired ones in the future
c- Inbreeding increases Harmful recessive traits can be passed on to future generations
d- Inbreeding is time-consuming and expensive
. Which is the process by which unwanted aggressive behaviors are bred out of certain types of dogs?
a- Hybridization b- Genetic Engineering

c- Test crosses d- Inbreeding

7- Harmful recessive traits can be passed through generations of purebred animals as a result of

a- Hybridization b- Inbreeding ¢- Line breeding d- out crossing
Gzl IS e emell LIS Bodmes ilkee § Tl e pluall bRl ey sl of LS z40  BIO.3.2.04.010 2 sl 40
BI10.3.2.04.010 Explain that in artificial selection, humans have the capacity to influence certain characteristics of organisms through selective breeding Figure 2 40
G Al M r Al SLIEY B3ms Sls § A e Fleall SRV 5300 A0 ol A et B10.2.2.04.010 40
B10.3.2.04.010 Explain that in artificial selection, humans have tha capacity to influence certain characteristics of organisms through selective breeding 40
G A IS e ] LI Badons Silee § AT e (Sluall LRSYL 03508 ) Of LS 75 B10.3.2.04.010 REIS -] 40
RI0.3.2.04.010 Explain that in artificial selection, humans have the capacity to influence certain characteristics of organisms through selective hreeding Think Critically 40
8- The cross below could be used to determine the genotype of a parent with a dominant phenotype.
i i ? Heterozygous white Homozygous white
‘What is this type of cross called i o g
w w | w | W
a- Test-cross — - ; — 1
wl Ww ww w| Ww Www

b- Homozygous cross

¢- Parental cross w! Ww Www

Homozygous
red grapefruit
Homozygous
red grapefruit

?
3
3
S

I
r
L

d- Heterozygous cross

Heterozygous white
grapefruit
. ‘What is the genotypic ratio of the offspring in the cross to the right? . W
wn =
3E w| Ww ww
a-1:2:1 b-1:1 =373
g
-1:3 d-1:0 E
¢ £8 w| Ww ww
Mohamad Rajab O

Homozygous white

grapafru
W W

Ww Ww

10- What is the genotypic ratio of the offspring in the cross to the right?

L

a-1:2:1 b-1:1
c-1:3 d-1:0

3

Homozygous
red grapefruit
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- Once a tomato grower observes the desired trait in her tomato plants, she decides to perform a

test cross. What is the purpose for doing the test cross?

a- to determine if the trait is dominant or recessive
b- to determine the phenotype of the plants
c- to determine if the plants carry beneficial recessive alleles

d- to determine if the plants are homozygous dominant or heterozygous

12- Why should a cow and a bull that carry a recessive allele for a mutation that causes decreased

milk production not be bred?
a- it will increase the chance of homozygous recessive offspring.

b- it will increase the chance of homozygous dominant offspring. P

Q_&“)

c- it will decrease the chance of homozygous recessive offspring. éf
o

Mohamad Rajab &

d- it will eliminate the undesired ones in the future. 2

- A breeder performs a test cross to determine the genotype of a black cat. He crosses the black cat

(BB or Bb) with a white cat (bb).

If 50 percent of the offspring are black, what is the genotype of the offspring black cats?
a-bb b- BB c-Bb d- WB
14- A person wishes to raise guinea pigs with black fur, the dominant trait. She selects a male black

guinea pig and performs a test cross with a female that has white fur, the recessive trait. What is the

black guinea pig’s genotype if any of the offspring are white?

a- BB b- Bb c- bb d- BW

A 6,3l A Sl Jldnls Seomdl pndll T b e B10.3.2.02.024 6 52

B10.3.3.02.024lllustrate the mechanisms of gene therapy and the replacement of defective genes with healthy ones Figure 6

44

Yy

- The figure shows a recombinant nucleic acid plasmid.
‘What is the role of the molecule below in DNA cloning?
a- To make foreign DNA susceptible to digestion with enzymes
b- To identify the host cell that taken up the gene of interest
¢- To identify the source of DNA as foreign
d- To carry the foreign DNA into the host cell
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16- The figure below represents the vector used in the DNA cloning process. Which of the following
statements about the vector is false?

ald e

- A Y )
a- It is used to transfer the foreign DNA into the host cell. oi il i ,_' )
- —'- ( }\
b- It carries DNA from different sources called recombinant DNA. 3 ’;:
r J :"\
c- plasmid and viruses are commonly used vectors in the process. C A _e
i ) 1 ™ “U
d- Its main role is to make the DNA susceptible to digestion enzymes. LK
17- Which of the following is commonly used as vector (example of a vector):
a- Plasmids b- DNA ligase
c- bacteria d- antibiotic
. Recombinant DNA is created by joining DNA from two different sources. Which letter of the
following refers to genomic DNA in the illustration shown below?
l—A Z—B _\\\\‘ _““\\‘\\IA
SN T b ININUAN e
o B } —_—
3¢ 4-D & o G
,, ', :: /{ ,’
"!1‘\\\-:' ':l = . TA .\\\\\‘
19- (Biologists use to join two DNA molecules o X i WO men LA f{;)
together)? 97 42
19- Which enzymes is used in the region \ c “h :'-:
LI VNS Nt
indicated by the letter C ] - OO0~
————————— CACCAT VYV NVVYVVVIYVS AGCAL
A AN D
a- ECORI cut
b- RNA Polymerase B
c- DNA ligase
d-DNA Polymerase
Aapdan 16,31 AREN Ciligadl Jladls el padll S| mogy B10.3.3.02.024 7580 45
B10.3.3.02.024lllustrate the mechanisms of gene therapy and the replacement of defective genes with healthy ones Figure 7 45

Study the figure below and answer the question.

What process uses electric pulsation or heat to create openings in the plasma membrane of bacterial cells?

oy
d\ - 14
N o) —
3:" ;:‘ ’ ?-d} @
e
a- Transformation b- Recombinant DNA formation

c- Gel electrophoresis d- Transcription
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. The figure below shows making a large quantity of recombinant plasmid, Study it and then

answer the question: Which of the following does numbers (1) and (2) refer to?

Some bactena undergo
transformation and

_m = some do not. i
- (= O — : ‘"“""\. P - —

Bacteria

Cells that take up
recombinant
Replication of bacteria plasmid DNA
also copies recombinant Survive on
plasmid DNA. ampicillin plates.

Recombinant plasmid DNA
with AMP mixed with bacteria,

— — —— y ' — N e - L=
g ﬁa—-‘.______ﬂ:' &= S &S e . =
Gy & - @ ) @ = —— . Ampicillin selects = o - ‘/
— — L i g : bacterial cells that < = e

{ @5"“:. — %"“‘ e contain recombinant DNA.

a- (1) Transformation, (2) cloning b- (1) transformation, (2) Gel electrophoresis

¢- (1) cloning, (2) transformation d- (1) Gel electrophoresis, (2) transformation

The figure below represents the transformation process of EUY LSl LA Jgad Audes ol JSA Siay
bacterial cells to produce ampicillin resistant strain. & gl daadl) A Lo Gl da glia AL
What percentage of the cloned bacterial cells will be able to o 5,48 O S Al Adioal) 4 g LA
resist the ampicillin? € Calesaa¥) A glia

B

 J - ® >

a- 69% b- . . ; -
60% o " o
¥

O ® t ]

23- Which is the process that scientists use to produce large number of recombinant molecules?
a- Gel electrophoresis b- Polymerase chain reaction ; é"__'_.f' Ly g
en @ @&
¢- Recombinant DNA technology d- Gene cloning an o
¢ “» &%
Mohamad Rajab @acg
24- The process in which bacteria take the recombinant plasmids is called:

: i Some bacteda und
a- Link b- transformation soacaa iy
-'_m ) f“:—*—"\\%‘"& 10 710!, e

3 - Lt --1 _:@P—\
c- adhesion d- the transfer 5 el § [ s

s
4 @:; Transformed bacteria Bacleria

Recombinant plasmid DNA

with AMP mixed with bacteria. Replication of bactena
alkso copies recombinant
plastid DNA
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25- How do researchers distinguish between the bacterial cells that contain the recombinant DNA and
those that do not? 8 T8 5

a- They observe the two types of cells under a microscope.
b- They tag the recombinant DNA with fluorescent dye. - &%
c- They use an antibiotic to Kill the cells that do not contain recombinant DNA.

d- They use gel electrophoresis to separate the cells containing recombinant DNA.

Aol 1655b AN Wlime)l Jlddls el seaill Ol mbge  BIO.3.3.02.024 45

BID.3.3.02.024lllustrate the mechanisms of gene therapy and the replacement of defective genes with healthy ones 45

26- Which process is applied to identify mutation or errors in DNA molecules?
a- DNA sequencing b- Polymerase chain reaction
c- Gene cloning d- Gel electrophoresis
27- technique used to determine the order of nucleotide in a gene?
a- DNA sequencing b- Polymerase chain reaction
c- Gene cloning d- Gel electrophoresis
. ‘Which of the following is not a use of the DNA sequencing technique?
a- Predict the function of the gene
b- Identify mutations or errors in the DNA sequence
¢- Compare the gene with similar sequences from other organisms

d- To separate DNA fragments according to size

Gk (5,5 BRI bl Jlidunly Gemdl peatll Sili gy BIO.3.3.02.024 8 K a6

BI0.3.3.02.024lllustrate the mechanisms of gene therapy and the replacement of defective genes with healthy ones Figure 8 46

11

Al 1555 AN Dbl Jladialy gumdl padll ST e BIO.3.3.02.024

Bl10.3.3.02.024lllustrate the mechanisms of gene therapy and the replacement of defective genes with healthy ones

- The figure below shows the arrangement of DNA sequences using fluorescently labeled
nucleotides.

On what basis are the fluorescently labeled fragments separated in gel electrophoresis?

j S - Four reaction mixtures include
| — unknown DNA fragment. primer, DNA
I__ l poly the four and
a- Weight 1 il PP TR —— Gel electrophoresis
i : - i - wollgll Wil Juadll
b- Mass L.—.L'- ) — 5~
Ly , L
c- length -
— | — .
d- Density o ' -
tad T e — G
- —_—
- o &
= | .
: — G
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30- What is used in DNA sequencing technology to determine the order of the DNA sequence?

a- Recombinant Plasmid DNA
b- Restriction enzyme
c- fluorescent-tagged nucleotides

d- RNA Polymerase

i A ci-c:n-;cu-mm

Mohamad Rajab 3(99

31- The figure below represents the Gel electrophoresis in the DNA sequencing process of an ®
unknown DNA fragment where fluorescent- tagged nucleotides were used with four different colors.

Which of the following is the right is the sequence of the nucleotides on the gel below?
a-CACGTCT

b-TACCCGT
c-GCCCATT
d-CTGCAGT

. The figure below shows the DNA fragment pattern of nine samples after the packed gel was placed
in the electrophoresis tank and the current was turned on. Which of the following pairs of numbers

represents the samples with identical DNA profiles?
1 2. 853 4 5 6 7 8 9

.-"

By Wy

a-4,5 b-8,9

c-19 d- 6,7

P 11111



A o

-

/LJ P
NN

|.3(, NS

L Jaedl o leil) gl oYl 6§ o il S

EMIRATES SCHOOLS ESTABLISHMENT ...'..” stwlﬂ sttw‘)“ !“l'«” BJAU::.H / &.w_).i.o United Arab Emirates

33- Why is polymerase chain reaction (PCR) one of the most powerful tools used by scientists?

a- It can be used to identify errors in DNA sequences and predict the function of genes.
b- It can detect a single DNA molecule in a sample and make millions of copies of it.
c- It creates large amounts of recombinant DNA in genetically engineered organisms.
d- It creates DNA fragments with sticky ends that can join with other DNA fragments.
-Why is the polymerase chain reaction used?
a- to amplify DNA b- to ligate DNA
c- to cut DNA d- to separate DNA
35-The polymerase chain reaction uses:
a- To bind two DNA b- To cut DNA
c- To make millions of copies of DNA d- To separate the DNA
36- What technology do doctors use to detect infectious diseases such as AIDS and COVID-19:

a- DNA sequencing b- Polymerase chain reaction (PCR)
c- Gene cloning d- Gel electrophoresis
dcly3lly detioall § aidad a8 2 200 ¢ sl Jan)l e 4B ey Ciias BIO.3.3.01.021 a8
? Bl0.3.3.01.021 Describe some exmples of genetic modification,and explain how its applied in industry and agriculture 48
Aslyilly dstiall § dodal LS &g ¢ ol el Jo ALY Jans ey BI0.3.3.01.021 48
g B10.3.3.01.021 Describe some exmples of genetic modification,and explain how its applied in industry and agriculture 48

‘Transgenic Animals
* Scientists produce most transgenic animals in laboratories for
biological research.

Transgenic Animals Genetic engineering
Mice, fruit flies, and the Study disease and develop ways to treat them
roundworm Caenorhabditis
elegans( C elegans)
Transgenic livestock Improve the food supply and human health.
Transgenic goats Secrete antithrombin lll, a protein used to prevent

human blood from clotting during surgery

Transgenic chickens and turkeys |Resistant to diseases.

Fishes Grow faster.

Transgenic animals Might be used as a source of organ transplants.
In the future
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37-Organisms genetically engineered by inserting a gene from another organism are called:

a- Test Cross b- hybrids
¢- Transgenic organisms d- normal organisms

38- Which of the following organisms has been Genetically engineered to improve the food supply and
human health?

a- goats b- chickens and turkeys
¢- The roundworm (Caenorhabditis elegans) d- Transgenic livestock

. Which of the following organisms has been Genetically engineered to Secrete a protein used to
prevent human blood from clotting during surgery

a- Goats b- chickens and turkeys
¢- The roundworm (Caenorhabditis elegans) d- Transgenic livestock

40- which of the following organisms has been Genetically engineered to be used in research

laboratories around the world to study diseases and develop ways to treat them?

a- goats b- chickens and turkeys ©
»
¢- The roundworm (Caenorhabditis elegans) d- Transgenic livestock &},Q'

&
&

Mohamad Rajab
- ‘Which of the following provides an example of a transgenic organisms?
a- Praying mantises raised to Kill garden pests
b- German shepherd hard to identity explosives
¢- Chicken genetically engineered to resist diseases
d- Hybrid rice grain that produces higher yields
42- Which of the following provides an example of a transgenic organisms?
a- Praying mantises raised to kill garden pests.
b- Peanuts and soybeans do not cause allergic reactions.

¢- Plants that produce biodegradable plastic.

d- Hybrid rice grain that produces higher yields.

43- Which of a transgenic organism is used for increased iron and vitamins that could decrease
malnutrition in Asian countries?

a- Sweet-potato plants b- Peanuts plants

c- Banana plants d- Rice plants
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50-51

RIOD.2ANAON5 Study tha impartance nf the gentic rades mnd lification intarct for the preventinn nf diceaces and rhe importance nf the human gennma

50-51
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51

B10.3.3.03.005 Study the importance of the gentic codes mod lification intact for the prevention of diseases and the importance of the human genome
composition in determining the paternity and crime, by using the interactive software in a computer

51

44- The Human Genome Project HGP was an international project. Completed in:
a-2001 b- 2003 c- 2010 d- 2021
- The percentage of genomes responsible for building proteins
a- 100% b- 2% c- 98% d-25%

- Scientists have noticed that less than 2% of all the nucleotides human genome are responsiple for
encoding all proteins in the body. Which of the following represents a correct explanation for this?

a- The genome is full with long stretches of repetitive sequences that have no direct function.

b- The genome is full with short stretches of repetitive sequences that have no direct function.

c- The genome is full with long stretches of non-repeating sequences that have no direct function.

d- 98% of the long stretches of DNA regions have functio.
47- Which statement about the human genome is _false?
a- The human genome contains approximately25,000 genes.
b- The human genome contains long stretches of DNA with no known function.
¢- The human genome was sequenced by scientists from around the world.
d- The human genome contains nucleotide sequences that all code for proteins.
48- Which sections of human DNA are unique to every individual?
a- The noncoding sequences
b- the regions that code for proteins
c- the sections that contain genes Mohamad Rajab
d- the e genes that code for fingerprints
49-The long stretches of noncoding regions of DNA are unique to each individual called:
a- DNA Fingerprinting (DNA typing) b- Sequencing the Genome
¢- Protein-coding d- gene
-Which of the following is not the benefits of DNA typing (DNA fingerprinting)?
a- Identify suspects and victims in criminal cases.
b- Determine paternity.
c- identify soldiers killed_in war

d- Discovering new genes
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- For what purpose is DNA typing (DNA fi;lgerpﬁﬁﬁng) used?

a- to sequence DNA from bacteria
b- to separate DNA fragments
c- to identify individuals who have committed crimes

d- to identify single nucleotide polymorphisms

52- The figure below shows samples obtained from humans, such as blood, hair, and saliva that can be
used by forensic scientists for DNA typing. Which of the following best describes the process of DNA

typing?
a- It is the process of separating an individual unique sequence of

DNA fragments to observe distinct patterns.

b- It is the process of determining the sequence of the protein coding
regions of the DNA.

c- It is the process of determining short stretches regions of the DNA
and their related functions.

d- It is the process of creating numerous strands of DNA fragments
from preexisting ones using nucleotides.

53- Which of the following explains why a forensic scientist uses the noncoding regions of DNA rather
than the coding regions of DNA?

a- The noncoding regions of DNA are identical to each individual.
b- The noncoding regions of DNA can create proteins.
c- The coding regions of DNA cannot create proteins.

d- The noncoding regions of DNA are unique to each individual.

15

O gl plasiats el S8 ALK il i § WEeatls S poiiml eSSy Sl e BB gl el Sl Y ASs0 SR S udad s BIO 3.3.03.005 56
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BIO.3.3.03.005 Study the importance of the gentic codes mod lification intact for the prevention of diseases and the importance of the human genome 56
compaoasition in determining the patemnity and crime, by using the interactive software in 8 computer

54- Which of the following is Project Identifying All Individual Patterns in the Human Genome?
a- Proteomics b- HapMap
¢- Genetic Pharmacology d- Gene therapy

- Variations in the DNA sequence that occur when a single nucleotide in the genome is altered Are
called:

a- The noncoding sequences b- Sequencing the Genome

¢- single nucleotide polymorphisms d- Proteomics
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- The graph below is an illustration of the HapMap“proj ect.

Which of the following represents the primary goal of the project?

a- Catalog the genetic sequences of individual DNA
chromosome 1

b- Create a database for genetic biological information CGATATTCCTATCBAATG:
c- Map the sequence of nucleotides in human DNA “GCTATAAGGATAGCTTAC:
common genotype

d- Identify genes that cause serious human disease
57- The study of how genetic inheritance affects the body’s response to drugs is called ....
a- Pharmacogenomics b- Bioinformatics
c- DNA microarrays c- Gene therapy
. ‘Which of the following does not include the benefits of pharmacogenomics?
a-More accurate dosing of drugs that are safer and more specific.
b- for drugs to be custom-made for individuals based on their genetic makeup.
c-increase safety, speed recovery, and reduce side effects.
d- Identify genes that cause serious human disease

- The figure below shows DNA encapsulated in a virus and delivered into a patient to replace a
defective gene. Once the virus enters the cells, the genetic information is released into the nucleus and
inserted into the genome. What is this technique called?

a- Pharmacogenomics b- Bioinformatics . >
¢- DNA microarrays c- Gene therapy " o

Aboadl el DNA
DNA Therapeutic Gene

T
R,
Yos

Mohamad Rajab
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60-Why has the Food and Drug Administration halted clinical trials using gene therapy?

a- The clinical trials affect the body’s response to drugs.

b- There is a risk of producing a transgenic human.

c- Inserting genes is done by a virus that infects the patient’s cells.

d- Doctors are able to take advantage of genetic variations on chromosomes

61- In most Gene Therapy studies, target cells in the patient are infected with a viral vector, like the
one in the figure below. What is the benefit of Gene Therapy? 1

a- Determining more accurate dosing of drugs that are safer. ' ‘ i
b- Identifying suspects and determining parents.
c- Helping researchers find genes that cause disease and affect a person, s response to drugs.

d- Correcting mutated genes that cause human diseases.



b

i Jaodl foleil) il ol G o

1z

EMIRATES SCHOOLS ESTABLISHMENT s S °mb 1 ‘)H " EJ.DLE." / 4 United Arats Emirates
LJ‘..‘-’-*U. 9 e P-‘h*u.. duw)ydo
o gt plidiy @il e CEASHY Lol it § arganly 5l potemll LSy S e BBl el iy FY LdLsl A AN Jausl ey BIO.3.3.03.005 18 Bl -

ulelazll E-_njl il 3

BIO.2.3.02.005 Stud\r the [mpunance of the genti: codes mod Iiflcali on intact for the pn‘_»ventlun of diseases and the importance of the human genome Figure 18 57

16

Ot L gueloed] plidetinl ilyaed] oo STl ekl dpuod | § diganly st poteml CauSyis ol (e BylEgl Aapli wilile y ZUY Al Dlisdl Jyaad oy BIO3.3.03.005 7
Blelaall zealpall pliddwl Jols

BID.33.03.005 Study the importance of the gentic codes mod lification intact for the prevention of diseases and the importance of the human genome 57
compaosition in determining the paternity and crime, by using the interactive software in a computer

Genes
(code for
amino acids)

62- Which letter refers to the DNA? (D)

1-A 2-B
3-C 4-D
- Which letter refers to the mRNA?

1-A 2-B join
chmonss 1N (©)
3-C 4-D
.«.-‘J-\uu e Ag\ (B)
O

. The information genes flow from DNA to RNA and RNA to proteins. Which of the following is
right concept that applies to figure below?
Chromosome
a- Genomics

b- The HapMap project

¢- The central dogma

Amino acids .
3 ( T ther -
d- Sequencing the genome R bl MANA DNA _
- \J‘/\ = Ribosome _
@u - (translates :’ - %5
B G mRNA to Cell Nudieus
Protein — amino acids) (contains
genome)

65- Which correctly lists the following terms in order from smallest to largest: DNA, chromatin,
chromosomes, nucleosomes?

a- chromatin, chromosomes, DNA, nucleosomes
b- chromosomes, DNA, chromatin, nucleosomes
c- DNA, nucleosomes, chromatin, chromosomes
D. nucleosomes, DNA, chromatin, chromosomes

. If the genome represents the words in a dictionary, then the definition and usage of those words is
represented by the

a- Haplotype b- chromosome
c- DNA d- proteome

67- The large-scale study and cataloging of the structure and function of proteins in the human body
is called .................

a- Genomics b- proteomics c- Genes d- The central dogma
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. Which a gland that secretes the hormone thyroxine?
a- Para thyroid gland b- Thyroid gland

¢- Pituitary gland d- Pancreas
2- Hormone causes cells of the body to have a higher rate of metabolism.
a- Thyroxine b- Calcitonin

c- Testosterone d- Parathyroid hormone

B Which letter of the following refers to a gland that The letter The gland
secretes the hormone thyroxine?
- B A Thyroid gland
C D B Para thyroid gland
4- Which letter of the fon'ving refers to a gland that G Adrenal ( the cortex)
secretes the hormone Insulin?
i 5 D Pituitary
C E E Pancreas
. ‘Which pairs of hormones have opposite effects?
a- Calcitonin and parathyroid hormone
b- Epinephrine and norepinephrine
¢- Growth hormone and thyroxine
d- Aldosterone and cortisol
6- Which hormone is released when high Ca* blood level?
a- Calcitonin b- glucagon ¢- Insulin d- Estrogen

7- Which of the following Increase blood calcium level?
a- Thyroxine b- Calcitonin

c- Testosterone d- Parathyroid hormone

Mohamad Rajab
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8- The figure below explains how negative feedback is important in maintaining homeostasis, Which
of the following letters represents the parathyroid gland?

a b ' 4 '
C d

Mohamad Rajab

. In the figure below Parathyroid hormone (PTH) and calcitonin (CT) regulate the of calcium in the
blood. Which of the following refers to the letter (A)?

L

B 1] [ A

a- Ca?" moves from the bone to blood.

b- Ca? moves from the blood to the bone.

¢- Ca’ moves from the thyroid gland to the spleen. P
»
d- Ca*" moves from the spleen to the thyroid gland. ‘;a-q'
&
Mohamad Rajab o
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10- In the figure below Parathyroid hormone (PTH) and calcitonin (CT) regulate the of calcium in the
blood. Which of the following refers to the letter (B)?

a- Ca? moves from the bone to blood.
b- CaZ" moves from the blood to the bone.
¢- Ca’ moves from the thyroid gland to the spleen.

d- Ca*" moves from the spleen to the thyroid gland.

Injury rate Age occurs
Type 1 20% By age of 20 When body cannot produce insulin
diabetes
Type 2 70-80% After age 0140 | The cell of the body becoming
diabetes insensitive to insulin

11- What is the effect of the body not producing enough insulin?
a- Dwarfism b- Type 1 diabetes
c- Type 2 diabetes d- Low calcium in the blood
- ‘Which pairs of hormones have opposite effects?
a- Epinephrine and norepinephrine
b- Growth hormone and thyroxine
¢- Insulin and glucagon Mohamad Raja
d- Aldosterone and cortisol
13- What is the role of glucagon hormone?
a- Increase blood glucose levels
b- Converting glucose into glycogen
¢- lower blood glucose levels

d- lower blood calcium levels

14- The graph below shows the blood glucose levels over a period of time. Which hormone might have

caused a sudden sugar as indicated by the arow?

a- Antidiuretic hormone
Blood
b- Growth hormone Glucose
¢- Insulin Level \

d- Glucagon

Time
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15- Which hormone is released when blood glucose is high? ﬁs‘éﬁoggfﬁgofsoe"ms

Insulin secreted
from pancreas

a- Calcitonin b- glucagon
gl g Blood glucose

. decreases; insulin

¢- Insulin d- Estrogen When blood secretion inhibited

glucose is high - .
B8 Which hormone is released when blood glucose is low? &5 Pancreas /

T WWhen blood
a- Calcitonin b- Glucagon glucose is low

Blood glucose

. increases; glucagon
c- Insulin d- Aldosterone secretion inhibited
Glucagon secreted

from pancreas

Glucose forms
from glgcogen and
noncarbohydrates

17- An endocrine gland located above the Kidneys:
a- Pituitary gland b- Pancreas gland
¢- Thyroid gland d- Adrenal gland
18- Which of the following is an example of Steroid Hormones?
a- Insulin b-Growth hormone
c- Aldosterone d-glucagon
19- Which of the following hormones secreted by the cortex of Adrenal glands?
a- Glucagon b- Aldosterone
¢- Thyroxine d- Insulin
20- Which of the following of hormone affects the kidneys to reabsorbing sodium?
a- Insulin b-Growth hormone
c- Aldosterone d-Cortisol
- Which of the following of hormone raises blood glucose level and reduces inflammation?
a- Thyroxine b-Growth hormone

¢- Aldosterone d-Cortisol

22- Which person is likely to have high levels of epinephrine?
a- Person A b- both person

c- Person B d- nether person

A.

23- Which endocrine gland would provide a burst energy to a person moving out of the way of a

speeding bicycle?

a- Parathyroid b- Pituitary ¢- Thyroid d- Adrenal
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24- Which gland responds to a stressful situation by producing a hormone that increases heart rate,

blood pressure, breathing rate, and blood sugar levels?

The letter The gland
a- adrenal gland b- hypothalamus
Pay Thyroid gland
c- parathyroid gland d- pituitary gland :
B Para thyroid gland
. Which letter of the following refers to a gland that
secretes the hormone Aldosterone? C Adrenal ( the cortex)
A B D Pituitary
C D E Pancreas
20 Gl Y1 e bl Bl 0l Jeli S 7 g gwanll gl (el lgandly stesall Uil Biger Lrglgaudy i e BI0.3.101.062 19 S5 -
BI0.3.1.01.062 Describe the endocrine, excreyory,and nervous systems and explain how these systems interact to maintain homeostasis B4

Hypothalamus

Cells in the hypothalamus produce
ADH and oxytocin. These hormones
move down axons to axon endings
and are secreted into the
bloodstream when appropriate.

The anterior pituitary
gland secraetes its haormones
into the bloodstream.

T
- - & L l——
Orwnary

Anterior
Pituitary
aland T~ Posterior

Testicle Pituita
gland Smooth muscle

/G::_v:‘h - N uterus
hormones
- - =H) L Antidiuretic
= hormone

Bones \ Syt w (ADH)

. -— ’
Skelatal I
muscle

Mcireral gleanc

Thyraicd glamndc

. Which of the following letters represents the Adrenal
gland in the below picture?

A B C D
- Which of the following letters represents the Thyroid
gland in the below picture?

A B
C D
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28- Which of the following is indicated by the structu;'e (A) in the figure?

\

a- Adrenal glands
#—-.______
b- Posterior pituitary gland A‘))

Testicle a.aa
¢- Anterior pituitary gland _‘_5?
Bo ( G H )
d- Hypothalamus
& A

29- Which of the following serving as link between the Nervous System and The Endocrine System?
a- Brain stem b- The hypothalamus
c- liver d- Adrenal gland

30- Which of the following is gland secretes hormones that regulates the testes, ovaries, thyroid and

adrenal glands?
a- thyroid b- pituitary
c- parathyroid d- adrenal

31- What are the hormones secreted by the hypothalamus (nerve cells rather than endocrine glands)?
a- Aldosterone and cortisol b- Calcitonin and cortisol

c- Estrogen and Growth hormone d- Antidiuretic hormone (ADH) and Oxytocin

With my sincere wishes for good luck and success

Teacher: Mohammad Rajab



